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1 Hdla st

MODBUS kXM RTU 1 ASCI #y# 7 kATt % . RTU BN, KA
8bit k7 RF, ASCI X TR A 7bit ASC FFF. K RTU B T 1 — A
TR 4 LRV 4 BLorIF, A8 2 AN, X PRt 2 ASCIL A T A& % 7
o bl RTU B R 0% 0x1A, FB4 ASCIT A2 R a2 0x31 0x41 FiA
T3, Prbh ASCI SR Mt B0y RTU AU 1 .

RTU f& 4 30 5RO F CRC K25,  ASCIL BRI LRC B3

TR T PR X )

FEHAR X ASCII (7 bit) RTU (8 bit)

Zhtg =\ ASCITE (‘09> ‘A-‘F) 8bit | (0x00 — 0xff)
Sy A 1 1

/G A 7. 8 8

REBAL Tov B A Tov B A

(EHIR A 1. 2 1. 2
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2 A A R
TERIURE T U AR SR S

TR | MR AR E | M

COIL 1 bit - #i /R A% #(ON OFF)

FLOAT 32 bit 2 32 HiiF A B(IEEET54 #530)

INT 16 bit 1 TE 55 #7800 — OXFFFF)

LONG 32 bit 2 T 5 K7 (0x0 — OXFFFFFFFF)
2.1 COIL

fi/RAE  0xFF00 ->ON  0x0000 -> OFF
2.2 FLOAT
T 2 A B AT A RS BE TEEE 754 # 2B s 8l
BAF BT 4 N7, B T
SEEEEEEE EMMMMMMM MMMMMMMM MMMMMMMM
S SAL 0->1F 1>
E:[ri4
M: R H 1) /NG 53
fil4n: 0xC1480000 = -12.5
2.3 INT
1 N TR 5 B
B4n: 0x0025 =37 0x1234 = 4660
2.4 LONG
i 2 N LTS KA
Bilhn: 0x12345678 = 305419896



3 K e 3

3.1 CMD=0x03(i 1 P A7 (74%)
A5 K o S U e U R KR T, AR k=1

VE: BEHR BN AR SR G M hik=0x0253, {H 3R i T 1) 25 A7 28 R 4G Hhu kil o
2 0x0253-0x0001 = 0x0252

WORI: ArhL-> (0

LR i RTU 7= 5143 (HEX) ASC 7l 4 (HEX)
3k NONE 3A

AR 01 30 31

LhRehd 03 30 33

TAE AL 02 30 32

AL A IR AR Y 52 35 32
EREEoEe (k) 00 30 30

T ECRIRT 02 30 32

TR 56 64 62 41 36

(2N NONE 0D 0A

BT AXR-> EATHL

A CIN 7 EY N

RTU 7= 414545 (HEX)

ASC 7R ¥ (HEX)

3k NONE 3A

=tk 01 30 31
DyRett 03 30 33
Hn K 04 30 34
TAEAE 0x0253 FHCE 47 Cl 43 31
FFAE A% 00253 FBHEAR 34y 48 34 38
TAEAE 0x0254 FHCE 747 00 30 30
PFAEAE 00254 FUBHEAR 33 00 30 30
TR B 47 D9 45 46
e NONE 0D 0A

AN Z MR [B] ) IEEE754 #% 2P B i &= 40dE C1 48 00 00 =-12.5




3.2 CMD=0x05(5 COIL % &)

AGIHHE G R R TR E B L CRIE=1,

A E R E N A AR LA 1 =0x0003,  {FECHE Wit (1) B A7 S i 4h Hh bk

D52/ 0x0003-0x0001 = 0x0002
R _EAHL->AR

LR i RTU 7= 6143 (HEX) ASC 7l 4 (HEX)
3k NONE 3A
AR 01 30 31
DyRett 05 30 35
TAE AL T 00 30 30
AP AR IR AR Y 02 30 32
COIL 22 i 719 FF 46 46
COIL A2 AR5 00 30 30
i 4 2D FA 46 39
(2N NONE 0D 0A
LT AXER-> EALAL

LR i RTU 7= 5143 (HEX) ASC 7l 4 (HEX)
3k NONE 3A
AR 01 30 31
ThRett 05 30 35
TAE AL Y 00 30 30
AP AR IR AR Y 02 30 32
COIL 22 i 715 FF 46 46
COIL A2 AR5 00 30 30
Uixds 2D FA 46 39
R NONE 0D 0A




3.3 CMD=0x06(5 #2717 2%)
A K A T R T =m3/h R, AR k=1,
VE: AN 2 AT SRR G M HE=0x0042, (BRI T T 10 2 17 e 4G i

i 0x0042-0x0001 = 0x0041
R EAIHL->R

LR i RTU 7= 6143 (HEX) ASC 7l 4 (HEX)
3k NONE 3A
AR 01 30 31
LhRehd 06 30 36
TAE AL T 00 30 30
AP AR IR AR Y 41 34 31
AT 00 30 30
AR BT 13 31 33
TR 56 98 13 41 35
(2N NONE 0D 0A
LT AXER-> EALAL

LR i RTU 7= 5143 (HEX) ASC 7l 4 (HEX)
3k NONE 3A
AR 01 30 31
ThRett 06 30 36
TAE AL Y 00 30 30
AP AR IR AR Y 41 34 31
L3kt 00 30 30
AR BT 13 31 33
TR 56 98 13 41 35
R NONE 0D 0A




3.3 CMD=0x10(5 Z /%7 17 2%)
AGIEAR R B BB Al=3s 8 m, FHhk=1.
W BRI 8] ) F5 A7 2 EC R b =0x0189, {H 5 Wi v (1) 27 A7 A AT 4R M ik 04
5% 0x0189-0x0001 = 0x0188
TR LR

il 2 R RTU 7~ 1 54 (HEX) ASC 7R 51 84 (HEX)
(IS S NONE 3A
btk 01 30 31
DyRett 10 31 30
TR A A bk e 01 30 31
AL A AR AR Y 88 38 38
W AE S ECR 00 30 30
TAF B AR 02 30 32
Hn KL 04 30 34
BN A 0x0189 [ 711 40 34 30
5N AFA7 5 0x0189 [HII74 40 34 30
BN EH 0x018A HIR 71 00 30 30
B NFFTAE OxO18A FUE Y 00 30 30
TR 56 E3 ED 45 38
L2 NONE 0D 0A

A 4 DN EHE TN IBEE754 #2017 S5 40 40 00 00 = 3.0



BT AXR-> EATHL

i35 25 RTU 7= 414545 (HEX) ASC 7RI HHE (HEX)
sk NONE 3A

BES: RN 01 30 31

DhRett 10 31 30

AT AR AA b Y 01 30 31

TAE A AR AR Ty 88 38 38

AR BE R T 00 30 30

EREEoEe (it 02 30 32

Uit Co 1E 36 43

R NONE 0D 0A

3.4 HifE R [m] i
X T ANRE IR 58 SR VR OB SR it, ARG 3R [8] — N o s B A A £ 3% =] ot
DA AN e 5 g ) BAR SR A
ECtR i B BB R Hz, B TAXRANBESC Y Hz XML, A BUR R
(=] 201 PRt P S 2
[ ANES TR Sl w DA

LR i RTU 7= 5143 (HEX) ASC 7l 4 (HEX)
3k NONE 3A

AR 01 30 31

ThRett 86 38 36

R 43 34 33

UL 03 91 39 31

(2N NONE 0D 0A

FE: 1. RER Bl ) Dh RERY =15 K i ¥ DI FE AL +0x80
2. AARRSEEARSIE S IS WHER. Ml




4 BRI o6 vk
4.1 LRC K5
//LRC MB&JaH: M “AUFHuht” 3] LRC WA IS I aE— 4>

void LRC(unsigned char *buf, unsigned int len)
{

unsigned int i;

LRC =0;

for (i=0; i<len; i++)

{

LRC += bufli];

}

LRC = 0xff - LRC;

LRC++;



4.2 CRC16 K4

const unsigned char TAB_CRC H[]= {

0x00,0xC1,0x81,0x40,0x01,0xC0,0x80,0x41,0x01,0xC0,0x80,0x41,0x00,0xC1,0x81,0x40,
0x01,0xC0,0x80,0x41,0x00,0xC1,0x81,0x40,0x00,0xC1,0x81,0x40,0x01,0xC0,0x80,0x41,
0x01,0xC0,0x80,0x41,0x00,0xC1,0x81,0x40,0x00,0xC1,0x81,0x40,0x01,0xC0,0x80,0x41,
0x00,0xC1,0x81,0x40,0x01,0xC0,0x80,0x41,0x01,0xC0,0x80,0x41,0x00,0xC1,0x81,0x40,
0x01,0xC0,0x80,0x41,0x00,0xC1,0x81,0x40,0x00,0xC1,0x81,0x40,0x01,0xC0,0x80,0x41,
0x00,0xC1,0x81,0x40,0x01,0xC0,0x80,0x41,0x01,0xC0,0x80,0x41,0x00,0xC1,0x81,0x40,
0x00,0xC1,0x81,0x40,0x01,0xC0,0x80,0x41,0x01,0xC0,0x80,0x41,0x00,0xC1,0x81,0x40,
0x01,0xC0,0x80,0x41,0x00,0xC1,0x81,0x40,0x00,0xC1,0x81,0x40,0x01,0xC0,0x80,0x41,
0x01,0xC0,0x80,0x41,0x00,0xC1,0x81,0x40,0x00,0xC1,0x81,0x40,0x01,0xC0,0x80,0x41,
0x00,0xC1,0x81,0x40,0x01,0xC0,0x80,0x41,0x01,0xC0,0x80,0x41,0x00,0xC1,0x81,0x40,
0x00,0xC1,0x81,0x40,0x01,0xC0,0x80,0x41,0x01,0xC0,0x80,0x41,0x00,0xC1,0x81,0x40,
0x01,0xC0,0x80,0x41,0x00,0xC1,0x81,0x40,0x00,0xC1,0x81,0x40,0x01,0xC0,0x80,0x41,
0x00,0xC1,0x81,0x40,0x01,0xC0,0x80,0x41,0x01,0xC0,0x80,0x41,0x00,0xC1,0x81,0x40,
0x01,0xC0,0x80,0x41,0x00,0xC1,0x81,0x40,0x00,0xC1,0x81,0x40,0x01,0xC0,0x80,0x41,
0x01,0xC0,0x80,0x41,0x00,0xC1,0x81,0x40,0x00,0xC1,0x81,0x40,0x01,0xC0,0x80,0x41,

0x00,0xC1,0x81,0x40,0x01,0xC0,0x80,0x41,0x01,0xC0,0x80,0x41,0x00,0xC1,0x81,0x40

const unsigned char TAB_CRC_L[]= {
0x00,0xC0,0xC1,0x01,0xC3,0x03,0x02,0xC2,0xC6,0x06,0x07,0xC7,0x05,0xC5,0xC4,0x04,
0xCC,0x0C,0x0D,0xCD,0x0F,0xCF,0xCE,0x0E,0x0A,0xCA,0xCB,0x0B,0xC9,0x09,0x08,0xCS8,
0xD8,0x18,0x19,0xD9,0x1B,0xDB,0xDA,0x1A,0x1E,0xDE,0xDF,0x1F,0xDD,0x1D,0x1C,0xDC,
0x14,0xD4,0xD5,0x15,0xD7,0x17,0x16,0xD6,0xD2,0x12,0x13,0xD3,0x11,0xD1,0xD0,0x10,
0xF0,0x30,0x31,0xF1,0x33,0xF3,0xF2,0x32,0x36,0xF6,0xF7,0x37,0xF5,0x35,0x34,0xF4,
0x3C,0xFC,0xFD,0x3D,0xFF,0x3F,0x3E,0xFE,0xFA,0x3A,0x3B,0xFB,0x39,0xF9,0xF8,0x38,
0x28,0xE8,0xE9,0x29,0xEB,0x2B,0x2A,0xEA,0xEE,0x2E,0x2F,0xEF,0x2D,0xED,0xEC,0x2C,

0xE4,0x24,0x25,0xE5,0x27,0xE7,0xE6,0x26,0x22,0xE2,0xE3,0x23,0xE1,0x21,0x20,0xEO0,



0xA0,0x60,0x61,0xA1,0x63,0xA3,0xA2,0x62,0x66,0xA6,0xA7,0x67,0xA5,0x65,0x64,0xA4,
0x6C,0xAC,0xAD,0x6D,0xAF,0x6F,0x6E,0xAE,0xAA,0x6A,0x6B,0xAB,0x69,0xA9,0xA8,0x68,
0x78,0xB8,0xB9,0x79,0xBB,0x7B,0x7A,0xBA,0xBE,0x7E,0x7F,0xBF,0x7D,0xBD,0xBC,0x7C,
0xB4,0x74,0x75,0xB5,0x77,0xB7,0xB6,0x76,0x72,0xB2,0xB3,0x73,0xB1,0x71,0x70,0xB0,
0x50,0x90,0x91,0x51,0x93,0x53,0x52,0x92,0x96,0x56,0x57,0x97,0x55,0x95,0x94,0x54,
0x9C,0x5C,0x5D,0x9D,0x5F,0x9F,0x9E,0x5E,0x5A,0x9A,0x9B,0x5B,0x99,0x59,0x58,0x98,
0x88,0x48,0x49,0x89,0x4B,0x8B,0x8A,0x4A,0x4E,0x8E,0x8F,0x4F,0x8D,0x4D,0x4C,0x8C,

0x44,0x84,0x85,0x45,0x87,0x47,0x46,0x86,0x82,0x42,0x43,0x83,0x41,0x81,0x80,0x40

/| CRC REuHE: M “fFHbil” B CRC WAL AS I HT — > 18
void CRC(unsigned char *buf, unsigned int len)
{

unsigned int i;

unsigned char CRC_H , CRC_L, index, ch;

CRC_H = 0x(ff;

CRC_L = 0xff;

for (1i=0; i<len; i++)

{
ch = bufi];
index = CRC_H ” ch;
CRC H=CRC L"TAB CRC H[index];
CRC L=TAB_CRC L[index];
}



5 F AR A 2441
PATR 264451 35 DA B e V7 B (M 1iE=0x0253) Jy 4l
BINSH: B 9600 Hffi=8 fi=Tt 17 1Lhi=1
itk =001 @M =Modbus RTU
5.1 ModScan32
W1 mTERE

File Comnnection Setup View Window Help
DIS|E| &5 B2 22w

Device Id: |I|
) Number of Polls: 0
fiddrese: MODBUS Point Type

Valid Slave Responses: 0

Length: |2 | [03: HOLDING REGISTER -] Reset(;t,sl

2 5. SEH Connection - Connect

x
Connect Using:
|Direct Connection to COM2 j

Phone Number: |

Semvice Port: |502
— Configuration

—Hardware Flow Control

Baud Rate: IQBUO j' I~ Wait for DSR from slave
I~ Wait for CTS from slave
Word Length: IB vl
DTR Control IDISABLE vl
Parity: INUNE 'I RTS Control IDISABLE vI
Stop Bits: |1 vl Delay IU ms after B TS before

transmitting first character
Delay ID ms after last character

before releasing BTS
Protocol Selections I

(1] | Cancel |

COM I e 244 iy s b e (1 /3 11



% 3 5. A1 Protocol Selections
x

Transmission Mode
STANDARD DANIEL/ENRON/OMNI

" ASCII " RTU ASCI ¢ RTU

— Slave Response Timeout
1000 [msecs)

— Delay Between Polls
I5UU [msecs)

I~ Force modbus command 15 and 16 for single-point writes.
[To be used in cases where the slave does not support the
single-point write functions 05 and 06.)

(1] | Cancel I

BCE I JE R OK R[]

5.2 F AT

= REEBIF SComAssistant ¥2.1 _lnlzl
%D ICUMZ vl ‘:J
A
fids i
E361117)
121k fi
@ xinen|
ﬁ?ﬁl&! Iz
ISR
(=
v +75#HSR
#1FE AR

IC : \COMDATA

<1

§§§ﬁ| E‘jﬁm—gﬁ;ﬁﬁ' 01 03 02 52 00 02 64 62 =
Vv +7stlRE ﬁm}ﬂ

T | &
- GHEE BT RER)
SevsN: [ 2 ERAERP | HERERLE  [EENE WAL 25 —

_ _ W | i
4 FTATUS: CONZ OPENED, 9600,%,8,1]  RG:0 |  TX:0  [CounterRESET] <UDl ,

COM [ e 244 iy s b e (1 /3 11
RPNAOE, WEIRFIHHE



6 W FZEHNEE X

DRSINESEEE & S RIS VIIES

6.1 COIL R Az S bk (TG A 1252 45)

COIL %7 T A FFAF A |5
AT REARRANEE) 11! K He [4EL
BRI 0003(16 Bt 3(10 HE) 05
6.2 INT SRR B R bk (T 7 Fi AR 24 5 )

INT 7! FFAE ALk TG |5
AT REARREANEE) 11! K He [4EL
i LB R 2. BRI B AT 0042(16 BEf)  66(10 BEil) 0001 03 |06
Rt sz (i ax 21 BRI R AL 0046(16 HEd) 70010 D) 0001 03 |06
DB B (B S 2.5 BOR Ui = HLA8T) 6003(16 ki) 24579010 iEdl) | 0001 03 |06
RBE AL (P 2. BRI B LA 6004(16 ) 24580(10 Bl 0001 03 |06
BB 3 TE ) 0419(16 HEA)  1049(10 L) 0001 03




6.3 LONG AR EMIE(IA A SC5)

LONG %7 FFAE A bk TG |5
AT REARREANEE) 11! K He [4EL
¥R IE [ Rt 030916 i)  777(10 HEH) 0002 03 |-
NREES7 0311(16 i) 785(10 i) 0002 03 |-
T ERkm &R 0313(16 ) 787(10 ikl 0002 03 |-
S Rt 0315(16 BEl)  789(10 i) 0002 03 |-
¥ RIEM Rt 0317 (16 ) 791(10 ) 0002 03 |-
1B R 0319 (16 #Efl)  793(10 ) 0002 03 |-
PR S Bt i 0321 (16 i) 801(10 ) 0002 03 |-
S e Rt E 0323 (16 i) 803(10 ) 0002 03 |-

A RIFERVE IR

R “YRIER R =2, “IEMRIT” =1234

M E R B2 sE =2 * 10000000 + 1234 = 20001234




6.4 FLOAT JERASE AL FRAS A S RF)

FLOAT %7 AT AL TG |5
(LA TR H AR AN E) 1 K Re RS
FARE (R E) 0253(16 ki)  595(10 ) 0002 03 |-
I Th % 2000 (16 @) 8192(10 ikEHil) 0002 03 |-
NEFY; S 2002 (16 BE])  8194(10 ki) 0002 03 |-
HH R 2004 (16 ) 8196(10 i) 0002 03 |-
FEJBHS ] s 0189(16 i) 393(10 ikl 0002 03 |10
N EREATIER) 0197(16 BEd)  407(10 ) 0002 03 |10
2 B 0209(16 ) 521(10 i) 0002 03 |10
4=20mA AL (mA) 0143(16 #Eii)  323(10 i) 0002 - |10
f P YR AE mA 0203(16 i) 515010 L) 0002 03 |-
i HATURAE Hz 0229(16 i) 553(10 i) 0002 03 |-
E SN 0223(16 ki)  547(10 #Ef) 0002 03 |10
Jikh 2 L/p 1103(16 ity 435510 i) 0002 03 |10
Jikar 55 BE - ms 0227(16 #Ei)  551(10 ) 0002 03 |10
£ 153B(16 ##l)  5435(10 i) 0002 03 -




6.5 WLLEFERASEHIE (VIO A & UL D

DA AR B A] DLEESE 1L FFAT A FFAF A B 5
GERPL V10 BAS LA - 3REN D K f’e |4

AR B (RN ) float 0500016 #Efl)  1280(10 ki) 0002 03
L5 Hidik 0253 (16 il i) ZeHfE AR TR
JREIERRIT unsigned long | 0502(16 #E#1)  1282(10 #E) 0002 03
L5tk 0309(16 i) ) E 4 AR TR
NREES7 unsigned long | 0504(16 ZE)  1284(10 i) 0002 03
L5l 0311(16 2 A Eodh AH )
T ERkm &R unsigned long | 0506(16 i2E1)  1286(10 L) 0002 03
ik 0313(16 35 B AR
S Bt unsigned long | 0508(16 L) 1288(10 i) 0002 03
bk 0315(16 54 B AR

A BibERTHE AT

R “PTRIEM R =2, “IEM &R =1234

M) S E 7 B E =2 * 10000000 + 1234 = 20001234




DA AR B A] DL L1 FFAF A FFAF A B 5
GERPL V10 BAS LA - 3CRE D K f’e |4

F AR B (RN ) float |0510(16 #Ef])  1296(10 ki) 0002 03

bk 0253 (16 i) i) ZHfE AR TR

JREIER R unsigned long | 0512(16 #E#1)  1298(10 #E) 0002 03
NAEESes unsigned long | 0514(16 ##1)  1300(10 #E) 0002 03

¥R A Bt unsigned long | 0516(16 #E#)  1302(10 i) 0002 03

S ] Bt unsigned long | 0518(16 ##1)  1304(10 #E) 0002 03

WA 1 SR 3 Y A R8s A A Sk TR (E %1000 (1145

BRE =k ERIER B E~&: 20001. 234 m3

WALt e : “9 b Rit”

=2’ “E["ﬂ%i »
332 4 8 R IE A 2R =2 * 10000000 + 1234 = 20001234

IR e H A B Sk SE B o~ B Y 1000 47,
B PLSEBR I IE 7] 2 iR = 20001234 / 1000.0 = 20001.234 m3

=1234




DA AR B ] DL SR FFAF A FFAF A B 5
GERPL V10 BAS LA - 3CRE D K f’e |4
F AR B (RN ) float | 0520016 #Efl)  1312(10 k) 0002 03 |-
it 0253(16 i) i AR R
I i T 2 float |0522(16 ¥Efil)  1314(10 ki) 0002 03 |-
ikt 2000016 ) (i AR R
AR 0C float |0524(16 i) 1316(10 i) 0002 03 |-
Sk 2002016 ) ECR R
H IR 0C float |0526(16 #Efil)  1318(10 i) 0002 03 |-
btk 2004(16 i3] ) HcdE AR TR
P RIE A Rit unsigned long | 0528(16 #E41) 1320010 k) 0002 03 |-
btk 0309(16 i i) ) HcdfE AR 7]
1Em Rt unsigned long | 052A(16 #Efi)  1322(10 #E) 0002 03 |-
Sk 0311 (16 1) O A AR )
¥R A Bt unsigned long | 052C(16 #i) 132410 3EH) 0002 03 |-
bk 031316 iE i) ) Fedfe AR [
KA &t unsigned long | 052E(16 i) 1326(10 ikHl) 0002 03 |-
Sk 0315(16 ) EcR
Y RIEHMAE R unsigned long | 0530016 HEdill)  1328(10 i) 0002 03
bt 0317016 k) AR R
EFA#AGERTT unsigned long  [0532(16 ZEfi)) 133010 i) 0002 03
it 031916 ) (i AR R
YRR AL Rt unsigned long | 0534(16 ) 1332(10 i) 0002 03 |-
bt 0321016 k) & AR R
S ARERTH unsigned long | 0536(16 i¥E41)  1334(10 i) 0002 03 |-
it 0323(16 k) i AR R
A RIFERTE IR
R “YRIER R =2, “IEMRIT7 =1234

Ups

MIER EiHRE =2 * 10000000 + 1234 = 20001234




6.6 TILUESMAREHEE (V12 fA & DL D
DA AR B A] DLEESE 1L FFAT A FFAF A B 5
GERPL V12 BAS A SRR D K f’e |4
NHEES7y float | 0550(16 i) 1360(10 i) 0002 03 |-
S Bt float |0552(16 ki) 1362(10 i) 0002 03 |-
IE[A #vEE Rt float |0554(16 k) 1364(10 i) 0002 03 |-
S r e Rt float | 0556(16 i) 1366(10 i) 0002 03 |-
DA AR ] DS AAFAR L AT BE 5
BB V12 BN B3R K R E K
NREES7 double [0560(16 ity  1376(10 i) 0004 03 |-
S Rt double |0564(16 i) 1380(10 ) 0004 03 |-
1E [ #AE Rt double |0568(16 HEffl)  1384(10 ki) 0004 03 |-
A #EERTE double [056C(16 i) 1388(10 i) 0004 03 |-




6.7 W LLEFERASEHIE (VI3 A &Ll D

DA AR B A] DLEESE 1L FFAT A FFAF A B 5
GERPL VI3 BA LA - 3REN D K Re RS
AR B (RN ) float |054E(16 #Efl)  1358(10 iEfil) 0002 03 |-
NREES7 float |0550(16 ity 1360(10 i) 0002 03 |-
S Bt float |0552(16 ki) 1362(10 i) 0002 03 |-
EFA#AGERTT float [0554(16 ) 136410 i) 0002 03
A H#EERTE float | 0556(16 i)  1366(10 i) 0002 03 |-
R IR Ty 2 float |0558(16 HEfi])  1368(10 iffl) 0002 03 |-
AR oC float | 055A(16 #Ef)  1370(10 BEif) 0002 03 |-
H R EE oC float  [055C(16 i)  1372(10 ) 0002 03




7 B 1 EECR: SRR
0x01:  JCRIRAY

0x02:  JoRUI)ZF A7 sk
0x30:  Z¥ulE LIR

0x31:  ZHGETIR

0x32:  ZHUAFETRIIR
0x40: TR TFAAEKE
0x41:  FAFAASCIF AT IR 209
0x42:  FFAFEAATR E DIRE
0x43:  JERNLALFLE
Ox44: B HAIAAELE
0x45: e AR b IR
0x46:  FARA A ik T R
0x47:  f=idi B IR
0x48: S tuE EIR



8 My 2: WHCR: WEAN

1 inH20 J£ 7] 43 | Cum B
2 inHg J£77 44 | Ft KR
3 ftH20 JE 77 45 |m KJE
4 mmH20 JE 77 46 | bbl B
5 mmHg J£77 47 |in KR
6 psi 77 48 | cm K
7 bar ] 49 mm K=
mbar JE /7 50 min s (]
9 g/Sqem J£ 77 51 S ) [
10 Kg/Sqem J£ 77 52 | h ) [
11 Pa J£ 7] 53 |d I (7]
12 kPa JE 77 54 | cSt R
13 torr JE 77 55 | cP R
14 atm &1 56 uMho HS
15 Cuft/min LNV =S 57 | % gl
16 gal/min PR 58 |V ChIES]
17 L/min R & 59 | pH gl
18 Impgal/min R E 60 |g Iigss
19 Cum/h (LN VTN s 61 |kg Jii &
20 ft/s R 62 | MetTon i
21 m/s R 63 |Ib Jii &
22 gal/s AR 64 | STon Ji
23 MMgal/d R E 65 | LTon Iigss
24 L/s PRI & 66 | mMho/cm H 5
25 ML/d (N AV RS 67 | uMho/cm 3
26 Cuft/s R & 68 7]
27 Cuft/d LNV =S 69 REHE
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99 STon/Cuyd R 142 | BTU/h i

100 degTwad R 143 R

101 degBrix W 144 pitli-3

102 degBaum hv R 145 £ 77

103 degBaum 1t R 146 | ug/L R

104 degAPI B 147 | ug/Cum R

105 % sol-wt W 148 W

106 % sol-vol WRE 149 B
107 degBall PRAR i 150 | % Stm Qual G

108 proof/vol W 151 | ft.inl6 KR

109 proof/mass WRIE 152 | Cuft/lb AR ot
110 bush B 153 | pF HL25

111 Cuyd BN 154 | mL/L B
112 Cuft B 155 | uL/L BRI
113 Cuin B 156

114 in/s MR 157

115 in/min T 158

116 ft/min MR 159

117 F 160 | % plato i

118 R 161 i

119 bithuds-s 162 | Mcal REE

120 m/h R 163 HLH

121 (N AV RS 164 | MJ REHE

122 (LN AV s 165 | BTU REE

123 (N AV RS 166 B

124 B 167 B

125 Oz Joi 168 B

126 s 169 WL

127 kW Bj S 170 J£71




171 J£ 77 214

172 J£7) 215

173 J£ 77 216

174 J£ 77 217

175 &) 218 | lton/s JiR LR
176 JE 7 219 | Iton/m iR E
177 &) 220 | ston/s JiR LR
178 J£ 7] 221 | gd i
179 J£7) 222 | a-ft/s (LN AV
180 (LN AV s 223 | a-ft/m (LN AV
181 (N AV RS 224 | a-ft/h (N AV RS
182 (LN AV s 225 | a-ft/d AR
183 (N AV RS 226 | Mgal/s (N AV NS
184 (LN VTN s 227 | Mgal/m (LN AV
185 AR E 228 | Mgal/h (N AV NS
186 AR E 229 |L/d (N AV NS
187 (LN AV 230 | mL/d (LN AV s
188 AR E 231 | mL B

189 (LN AV s 232 | Mgal B

190 (N AV RS 233 | a-ft B

191 234 | cal/h Bj S

192 235 | gal/d (LN AV
193 236 | hL B

194 237 | Mpa J£7)

195 238 | inH20 JE£7)

@A4DegC
196 239 | mmH20 J£7)
@A4DegC
197 240 | MetTon/s i




198 241 | mL/s A E
199 242 | mL/min (LN AV
200 243 | mL/h A
201 244 | KJ/h i

202 245 | GJ/h Bj S

203 246 | MW REHE

204 247 | kBTU/h iz

205 248 | kcal/h i

206 249 | Ps Bj S

207 250 | KJ REE

208 251 | GJ REHE

209 252 | MWh REE

210 253 | kBTU REHE

211 254 | kcal REE
212

213




9 Bfix3: WEEX

15 14 13 12 11 10 9 8
Unused | Unused | Unused | Unused | Unused | Unused | Unused | Unused
7 6 5 4 3 2 1 0
Unused | Unused | ADC ZERO COIL EMPTY | Unused | MEM
Unused: Bits 15—-6  Unused

ADC: Bit 5 # ADC 7 ]

ZERO: Bit 4 ZHitK(<-99.9mV B >+99.9mV)

COIL: Bit 3 il A

EMPTY:  Bit2 TERE

Unused: Bit 1 Unused

MEM: Bit 0 EEPROM K %%




